Ihavey = 3x — 4

The line with a slope of 4

Ihave y=4x+1

Who has the line with a
y-intercept of -1

lhavey=%x—1

Who has the line with a
y-intercept of 10?

I havey =x + 10

Who has a vertical line

Ihavex = 4

Who has a horizontal line?

I havey = —-100

Who has a line that goes
through the origin?

I have y = 2x

Who has a line with a slope
of -1/3?

Ihavey=—%x—5

Who has a line with a
y-intercept of 2




IThavey =3x+ 2

Who has an equation that
is not a line?

IThavey = x% + 1

Who has a linear equation
in standard form?

IThave3x +2y =6

Who has a line with a slope
of 6?

I havey = 6x + 7

Who has a line with a
y-intercept of -2?

IThavey =7x — 2

Who has the line with a
y-intercept of 6?

I havey = —8x + 6

Who has the line with a
slope of -4/5?

Ihavey=—§x+1

Who has the line with a

slope of 2 and a y-intercept
of 4?

I havey = 2x + 4

Who has the line with a

slope of 8 and a y-intercept
of 11?




Ihavey = 8x + 11 I havey = —10x — 20
Who has the line with a Who has the line parallel to
slope of -10? y =100x + 50?

4
Who has.the line Who has the line parallel to
perpendicular to — 15x — 77
y = 4x +2? Y '
lThave y = 15x + 1 Ihavey = —>x + 20

2
Wl;o h;sith? l;rlte Who has the line with a
perpendicwiarto slope of 100007
y=3x+15

I have y = 10000x — 2000 I have

Who has the end? THE END ©




